BC Calculus – FDW 3rd Edition – Section 8.3 Even Answers

Quick Review 8.3
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Section 8.3
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 (repeat L’Hospital’s Rule)  4. 
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   8. 0   10. 1   12. 1   14. ‘e’   16. Faster   18. Faster  20. Same rate 
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, so f2 and f3 also grow at the same rate.
34. 
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, so f2 and f3 also grow at the same rate.

36. g grows faster than f   38. f & g grow at the same rate
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  (b) 
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42. Let p(x) be a nonconstant (
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 won’t be zero). 
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44. (a) 1,000,000  (b) 20   46. True. 
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  48. E  50. C

52.(a) x5 grows faster  (b) same rate of growth  (c) m > n  (d) m = n  (e) m > n  (f) m = n

54. (a) & (b) both follow from: 
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